+B2120+168
KB2209+080

Tsys [K]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

40

35

30

25

20

20

45

40

35

30

25

Oloct14 to 31oct14 all freg

8 pnts. Gain K/Jy

L FIG 1 _]
 E— + —
B + 7
0 5 10 15 20

zda

Tsys
- 8500. 8800 9200. Mhz ]
C + E
C + » ]
L € X _
0 5 10 15 20

zda

Sefd
B ¥ ]
0 5 10 15 20

zda

AvgBmWidth

— + ]
N + 1
- * ]
0 5 10 15 20

zda



+B2120+168
KB22094+080

Tsys [K]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

OToct14 to 31oct14 8500 Mhz

2 pnts. Gain K/Jy

87 —
- ¥ u
6 FIG 2 _|
4 — ]
27 —
oL ‘ ‘ i
0 10 15 20
za
Tsys
40 ‘ N
35— —
30— —
25— —
200 ‘ ‘ i
0 10 15 20
za
Sefd
20 ‘ i
15— —
10— —
B * i
57 —
oL ‘ ‘ i
0 10 15 20
za
AvgBmWidth
45 ‘ N
40— —
35— —
L * i
30— —
250 ‘ ‘ i
0 10 15 20

zda



+B2120+168
KB22094+080

Tsys [K]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

Oloct14 to 31oct14 8800 Mhz

2 pnts. Gain K/Jy

87 —
6 FIG 3 _]
L >‘< —
4 — ]
27 —
oL ‘ ‘ i
0 10 15 20
za
Tsys
40 ‘ N
35— —
B X i
30— —
200 ‘ ‘ i
0 10 15 20
za
Sefd
20 ‘ N
15— —
10— —
C X i
57 —
oL ‘ ‘ i
0 10 15 20
za
AvgBmWidth
45 ‘ i
40— —
35— —
- >‘< —
30— —
250 ‘ ‘ i
0 10 15 20

zda



+B2120+168
KB22094+080

Tsys [K]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

Oloct14 to 31oct14 9000 Mhz

2 pnts. Gain K/Jy

87 —
6 FIG 4 _]
L X i
4 — ]
27 —
ol ‘ ‘ ]
0 10 15 20
za
Tsys
40 ‘ N
35— —
L ¥ _
30— —
200 ‘ ‘ _
0 10 15 20
za
Sefd
20 ‘ N
15— —
10— —
C X N
57 —
ol ‘ ‘ i
0 10 15 20
za
AvgBmWidth
451 ‘ N
40— —
35— —
30— X ]
250 ‘ ‘ _
0 10 15 20

zda



+B2120+168
KB22094+080

Tsys [K]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

Oloct14 to 31oct14 9200 Mhz

2 pnts. Gain K/Jy

87 —
6 FIG 5 _]
B X B
4 — —
27 —
ol ‘ ‘ ]
0 10 15 20
za
Tsys
40 ‘ N
C X N
35— —
30— —
200 ‘ ‘ _
0 10 15 20
za
Sefd
20 ‘ N
15— —
10— —
C K 7
57 —
ol ‘ ‘ i
0 10 15 20
za
AvgBmWidth
451 ‘ N
40— —
35— —
250 ‘ ‘ _
0 10 15 20

zda



